NIy +BES k=lcibiv BHES

20652-535 7R = e R NA R 0564-59-3525

B m.

Cup and Saucer

RHE®
P501-600

535.101-473 2,400m 535.102.783 2,300m 535-104-473 2,400m 535.105-513 2,100m 535.107-513 2,100m
ETRLEE AT —E—C/S #HHHIYI—E—-C/S IDIEEEHEAI—b - BRERETESHI-b—HWO EFTAHESEI-E-C/S
(9%7.5-240cc[M14x14x3) (m14.4x2.4) (9%7.5-240cc-MM14.5%3) (14x25) (14x25)
535.103-783 1,500m 535-106-513  1,200m 535.108-513  1,200m
BIEHIY - - MBS SEI -8 ENTHESEI -8
(10%7.2:250cc) (92%7.2:240cc) (9.2x7.2:240cc)

535-201-263 2,500 535203413 2,100m 535-205-413 2,100m 535.207-413 2,100m 535.200-513 2,100m B
#g1—E—C/S KEHRYARI—E—C/S KEFY AR I—E—C/S Yy MIADEAR - E£-C/S X TR EHI— b —HM o
(9%7+200cc+M13.2) (Mm14.8x27) (Mm4.8x2.7) (M132x25) (14x25) —
535202263 1,600m8 535:204-413 1,050m 535206413 1,050m 535.208-413 1,050m 535210513 1,200m 17>
RIEI—b—# KEFRTZAEI—b - KEFVRAEI—-b—# 7y MEROEAR - BXIXISFEI-b—B

(9%7+200cc) (7.4x7-210cc) (7.4x7-210cc) (72x65-210cc) (9.2x7.2:240cc) -

535.301-473 2,700m 535.303-473 2,700m 535.305-473 2,700m 535.307-523 2,7008 535.309-513 2,100m b
LAY (F) I—k—~C/S LARER(F)I—E—C/S  FR(F)I1—-k—-C/S FLREI—E—C/S FULIDAEEEI- B
(M14x15%2.3) (M14x15x2.3) (M14x15%2.3) (M14x15%2.3) (14x25) -
535.302-473 1,620m 535.304-473 1,620m 535.306-473 1,620m 535.308-523 1,620m 535.310-513 1,200m
LAXE#HF) I-b—# LAXEH(HR) -k -8 T (F)I-E—# FRiEO—b—H FULOIDIEEHEI—b—H
(8.8%7-170cc) (88%7-170cc) (88x7-170cc) (85%7-170cc) (9.2x72-240cc) #5z
)

. el

535.401-743 2,200m 535403743 2,200m 535.405-413 2,000m 535.407-413 2,000m 535.400-243 1,800m

#EEI— £ —C/S RE#I1-E—C/S EHARTHEI—E—C/S ELHARERFAEI-—E-C/S REI—E—C/S

(m15x2.3) (M5x2.3) (M132%25) (m132x25) (m15x133) bR
535.402-743 1,320m 535404743 1,320Rm 535-406-413 1,000m 535-408-413 1,000m 535410243  900m

BEE I~ REHI-—t—8 ELHARFARI-E—1 ELHARFARI-——H FEI-b—#

(9.9%65-210cc) (9.9%65-210cc) (7.2x6.5:210cc) (7.2x65+210cc) (9%7.3-200cc)




